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Run 4343 quartetwise, posH(O: Beam DH

Run 4343 quartetwise, asym0sub: Beam ON

— mamd lasl poo-c
Laser ON Entries: 73307 Entries: 88983
B Mean: 8.4470 +- 0.0012 Mean: 5.9849 - 0.0009 88983
- Laser OFF Std Dev: 0.3173 +- 0.0008 | Std Dew: 0.2787 +- 0.0007 3.985
| S0 DBV 0.2787
T 1 I 1 1 1 | 1 1 1 L 1 1 | 1 1 1 1 | 1 1 1
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—— Laser ON Entries: 73307 Entries: 85983
Mean: 14.4323 +- 0.2333 | Mean: 0.3556 «- 0.1785
Laser DFF Std Dew: 63.1586 +- 0.1649 | Std Dav: 53.5346 +/- 0.1268
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Run 4343 quartetwise, negHO: Beam DIN

Positive Hel (ON): 8.446999 +/- 0.001172
Negative Hel (ON): 8.377748 +/- 0.001172
Positive Hel (OFF): 5.984890 +/- 0.000934
Negative Hel (OFF): 5.983162 +/- 0.000934

-------- Sums and Diffs

On Diff: 0.069251 +/- 0.001118

Off Diff: 0.001727 +/- 0.000872
On Sum: 16.824747 +/- 0.002060
Off Sum: 11.968052 +/- 0.001652
-------- Asymmetries
On Asym: 14.258901 +/- 0.230385 (ppt)
Off Asym: 0.355607 +/- 0.179466 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 4.856695 +/- 0.002640

BkSub Asym: 13.903294 +/- 0.292036 (ppt)

¥ S aami_lasl nagHD
— Laser DN Entriega: 3340 Entries: B89H3
— Mean: 83777 «- 00012 Mean: 5.9832 «- 00006 88983
B — Laser OFF Gtd Dew: L3172 /- 0.0008 | Std Dew: 02785 +/- 0.0007 5.983
B oo 0.2785
B J | | 1 | | | | | | I | 1 | | | | 1 |
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-------- Histogram Vars
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Run 4343 quartetwise, posHO vs time
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Run 4343 quartetwise, negHO0 vs time
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Run 4343 quartetwise, bcm vs time
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